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Indicate which of the types of chemical reaction are being represented:

a) Na:POs + 3 KOH = 3 NaOH + K:PO« Reaction Type
b) MgCl: + LizCO: > MgCO: + 2 LiCl Reaction Type
c) Pb+ FeSO: > PbSO: + Fe Reaction Type
d) CaCO: - Ca0 + CO: Reaction Type
€) Pa+3 0z 2P:0: Reaction Type
f) 2 RbNOs + BeFz - Be(NO:): + 2 RbF Reaction Type
g) 2 AgNO: + Cu = Cu(NO:): + 2 Ag Reaction Type
h) 2 CsHs + Fe < Fe(CsHs) Reaction Type
i) SeCls + Oz > Se0: + 3Cl: Reaction Type
NO: >0 +0: Reaction Type

K) 2NOz > 202+ N: Reaction Type




